Honors Math 3 Unit 1 Study Guide 2020

Graph each function
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4. Given the graph, write the equation:
(Assume y= le is the parent function.)
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Evaluate the following piecewise functions for the given domain.

x*-1ifx<0

5. f(x)=4{2x—-1,if0<x<5
3,ifx>5
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7. Evaluate the function using the given graph:
o . g . D
S U TS B a. f(-3)= —2O

b. fl4) = L{

sren= DNE

ef@= |
£ f(x)=-1;x= o z’

8. For the given functions, find each value.
fx)=-5 gx)= 2 4+2x—1, h(x)=3x—4
a f@)= _ g b. 4g(—4) = 22 . 2(0) +g(~1)- 3h(8) = — ] 2

Tell whether each graph below is a function or not by writing “yes” or “no”.
Then determine the domain and range of each graph.
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Function?
Domain:
Range:

pomain:_(_— 9 ; SR
Range: = B OO) ) |

Increasing:__{_— ) )QO

Decreasing:

-0,
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Solve each problem. SHOW your work and box in the final answer. Write the inequalities in interval
notation and show the solution on a number line.

11.12x—1| =5 12. 2|x+4|-6=10
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13.. I3x+1|+10=4 14. [3x-7|=5x—4
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17. '2"2+1'—3 <6 18.|x + 8| < =6
[+l L g Ca oluton
= .
I+l | 18

Za CAPA LA ol > -5 X>-19
Bara]5 X411/ 2x > —19 5 .
19. A packaging company has a tolerance of 0.3 oz for a bag of chips that is supposed to weigh 12 oz. Write and

solve an absolute value inequality for the acceptable weights.

|X-1z[<0.%
N1 IR
L 0%

Scanned with CamScanner



